@ving 6 - Lesningsforslag

Problem 6.26 : ‘ ,

At the interface, the perpendicular component of B is continuous (Eq. 6.26), and the parallel component of
H is continuous (Eq. 6.25 with Ky = 0). So Bf = Bf, H! = H). But B = 4H (Eq. 6.31), so 1Bl = 1Bl
Now tanf; = Bl /B, and tan8; = Bll/B#, so

tanéy _BIBf Bl
tanéy ~ B gl Bl m

(the same form, though for different reasons, as Eq. 4.68).

Problem 7.7

B
=5 ,
direction of flow: (v x B) is upward, in the bar, so downward through the resistor.)

B2y
(b) F=IlB = 5 to the | left.

.- du B2 4y B2, B22
(c) F=ma=m— = ——— =

e (2 Ny iy = v
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(d) The energy goes into heat in the resistor. The power delivered to resistor is I?R, so

aw T2 B2 B2 2 —2at = le_z. ﬂjl/v_ =
~ =I*R= R=—ue ,wherea_mR, p

() £ = —£ = -BI% = —Bly; £ = [R = |] .| (Never mind the minus sign—it just tells you the

_dt R? R

o0 ~2at | 1 1
i s - 2 2
The total energy delivered to the resistor is W = amu] / e~ dt = amu? eyl amu? 50 = 5o v
0

Problem 7.18 . —
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The field of the wire, at the square loop, is out of the page, and decreasing, so the field of the induced
current must point out of page, within the loop, and hence the induced current flows L

counterclockwisej
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